B O
E Z @ Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
6,947 x 1000 = 2,372 x 100000 =
9,41 x 10000 = 5,472 % 100 =
4,567 x 10 = 9, 124 x 100000 =
1,104 x 10 = 2,142 x 10000 =
9, 64 x 100000 = 1,217 x 10 =
2,16 x 1000000 = 4,168 x 1000000 =
3,45 x 100000 = 10, 691 x 100000 =
9,05 x 100 = 2,972 x 10000 =
5,19 x 10000 = 5,981 x 1000 =
2,397 x 100 = 7,424 x 10 =
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Alow X

Multiplica decimales por potencias de diez

Nombre:

6,947 x 1000 = 6947

9,41 x 10000 = 94100

4,567 x 10 = 45.67

1,104 x 10 = 11.04

9, 64 x 100000 = 964000

2,16 x 1000000 = 2160000

3,45 x 100000 = 345000

9,05 x 100 = 905

5, 19 x 10000 = 51900

2,397 x 100 = 239.7

Fecha: Puntuacion:

2,372 x 100000 = 237200

5,472 x 100 = 547.2

9, 124 x 100000 = 912400

2,142 x 10000 = 21420

1,217 x 10 =12.17

4,168 x 1000000 = 4168000

10, 691 x 100000 = 1069100

2,972 x 10000 = 29720

5,981 x 1000 = 5981

7,424 x 10 = 74.24
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